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SN Eolo
M F0lOHE AMHIA MB(HAH)

ool SEXQ Fouo 29 (el @e)
SAH-AH -2 (SA) - HREAY - BES Ol A+ Iy H Hns2
Zoie 781,558 781,558 0
0l OFE MU A H2(2AEB) 217,350 216,850 500

S8HQ HoH 29 217,350 216,850 500
HH2H U A2(FOH) 52,491 53,991 1,500
201 Yty 14,518 16,018 1,500

01 At 22l H 4,642 5,142 A 500
OXEAME 130 160 A30
-AE5S 25 0¥ 0 30 A 30
ORABHAAE KX Y|
23X 136,800 * 12” 1,642 2,112 AA470
02 2229 9,876 10,876 A1,000
OF A 7,336 8,336 21,000
- 24| 23 1,000,000 1,000 2,000 A1,000
2IZAA L FHH SXT2(HAH) 58,139 56,139 2,000
201 Y| 22,880 20,880 2,000
02 222 22,880 20,880 2,000
OXta g Xl 18,000 16,000 2,000
-AES2 2 6,000,000 * 1CH 6,000 4,000 2,000
ZOIHOIZA XAHS (HAH) 361,000 361,000 0
FEU= N AL (RHAHDH) 361,000 361,000 0
ARD FOI=AAY (HAD) 313,000 313,000 0
401 Al&HI 2L 200 313,000 313,000 0
01 Al&H| 313,000 313,000 0
O2Y 0sotd orAZ2ZEMN2)] ¢ JieEy g
A % (L=230m) 2AX 18,680,000 18,680 19,000 A 320
OXNE 012 0h2 22 (L=35m) 25,000 0 25,000
OA A DEsS b2 I & (L=70m) 48 0 0 17,000 A 17,000
OX A B2 &l (L=270m) Z & 9,980,0002 9,980 22,000 A12,020
O=A W+2 3l (L=200m) ZX 14,830,000 14,830 22,000 AT 70
O2r=2 Hi4=2 &l (L=180m) A= o0l 0 23,000 A 23,000
O2= S22 T X (L=70m) 2AX 17,180,000 17,180 23,000 A5,820
OZZA =2 &l (L=180m) Z X 15,520,000 15,520 26,000 A 10,480
OXh otsetz otA2E M 2] (L=320m)
23 23,100,0002 23,100 18,000 5,100
OZ ptsetz otA29M )| 2 =2 ZH(L
=450m) A= 20,530,000 20,530 24,000 A 3,470
OSEl otSet2 OtA2I M 27 (L=300m)
A= 18,260,000 18,260 17,000 1,260
QOUsE 0Sot2 OtAZ2 S M 2] (L=550m)
23 21,820,0002 21,820 26,000 24,180
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